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& 1T ATHEDIESES 5,000Mm 6.,.200mM™
iusf OATHEDSS| 4.600m 5.600m
SATHEDES 4.200m™m 5,000m
1 ATHEDIES 5,000mM 6,200m/m
F1 = 2ATHEDISES 4.600m 5,600Mm
(108 -ER4N) | SATHEDIEBES 4.400mM™ 5,300mM
A ANTHFEDISS 44,2008 5,000m
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Fl | i 4y |HHE=E] |BHE=2 | mHe=s | HEE
BF RS (813) | (125%) | (2432) | (365=)
“~ B0 | fmmees | 3.600m| 800m| 1,100m| 1,800m
(O 2N SR 5,200m| 1,200m| 1,500m| 2.600mM
= i _;gg___gsoopa 1,100m| 1,400m| 2,400m
13~17)| — g | 7.200m| 1.600m| 2.100m| 3.600m
% | fmme | 4000m|  900m| 1,200Mm| 2.000m
(18~21) — B 6,000m 1,300mM 1.800m 3.000m/m
FR1-FHE| fmmee | /-600m| 1,700m| 2200m| 3.800m
O~172| — & |[11.200m| 2400m| 3.200m| 5.600m
%77 | mme | S.000m| 1,800m| 2,300m| 4,000
(18~21) | — #% |11.900m| 26008 3.500m| 6.000m
#2 B | fmwe |10.600m| 2300m| 3,100m| 5.300f
©~21)| — a2 |15.700m| 3.400m| 4.600m| 7.900m
] HH FI= 21 FO=
Y RS il (S818) | (54as) | (2783) % ?3253
4 Bl | fm=as | 8000m| 5400m| 2700m| 1,700m
(9~12)| — & |12.000m| 8.000m| 4.000m| 2.500m
4 4% | mma |10.700m| 7,200m| 3.600Mm| 2,300
(18~-17) | — p& |16.000m|10.700m| 5.400m| 3.400m
7% | fmmees | 8.900m| 6,000m| 3,000m 1,900
(18~21) | — a% |[13,300m| 8.900m| 4.500m| 28008
SFRN-FE | jmwces | 16.900m|11,300m| 5,700M 3,600
O~17)| — #& |o5.200m|16.800m| 8.4008m| 5.400m
Fi%-7% | mmew | 17.700m|11,800m| 5900m| 3,800
(3~—21) | — ps 26,4008 | 17,600M 8,.800MH 5,600mM
& B | fmmes |23.500m815700m| 7,900m| 5,100m
(©~21) | — a% |35.200m|23500m|11.8008| 7.4008




